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Answer all questions.
All questions carry equal marks.
Only one answer is te be given for each queslion.
Il more than one answers are marked, it would
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only one circle or bubble indicating Lhe correet
answer on the Answer Sheet using BLUE BALL
POINT PEN.
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relevant circles or bubbles ol any question blank
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case they are different, a candidate must obtain
another Question Paper of the same scrics.
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ensuring this.

Mobile Phone or any other clectronic gadget in

the examination hall is strictly prohibited. A

candidate found with any of such objectionable

material with him/her will be strictly dealt as per
rules.

Please correctly 01l your Roll Number in O.M.R.

Sheet. 5 marks will be deducted for filling wrong

or incomplete Roll Number.
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R.PE. (Prevention of Unfairmeans)
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Bonding in B,H, can be explained on the basis of which of the following

() V.B. T 2 M O T
3) CFET (4) L ET
B,He ¥ svem &7 T & 9 e Toeid & aaR WX @s0l @& ¥
() V.B. T 2) M. O T
G) C.FT 4 LET

Which of the following will have similar geometries 7
(1) CIF3 and PCI3 (2) H3O+ and NH,
(3) H,0 and Li,0 (4) SF, and CCl,

e o @ Tewa! ol ©F 99E OBE

(1) CIE wg PCl, (2) H,0" wd NH,

¢) H,0 wi Li,0 (4) SF, w CCl,

Crystal field theory {C.F.T.) could not explain which of the following :
(1) Bonding in metal complexes

(2) Spectral properties of metal complexes

(3) Covalent character of M, L bond.

(4) Magnetic properties of the complexes

fired wiee foe= (CET) P & @ fAd <& awsn @i ?

(1) =g el ¥ &

() g WHe ¥ T & g (@Ew )

(3) ug fore Tu 4 wegam® I

) dgel b grwE T
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4 Which of the following organometallic compound is known as
Grignard reagent

(1) (CHj), SnBr () C,HMgBr

(3) CH,HgCl @) (CH3)2AIC1

P o 4w wEwfee 9t frar ofveds & &1 o o
RO OE 7

(1) (CH_.;)}SnBr 2y C,HMgBr

(3) CH,HgCl (4) (CH3)2 AIC]

5  Which of the following is a soft base ?

I @) ¢
) Br ® 1
fr % ¥ @@ ogg ax ¥ 7
1y § @ cr
() Br @ 1
6 Reaction NaHJrNH3ﬂ-l.\l—%—n\[al\l}-{z+H2 i1s known as
(1} Dehydrogenation (2) Hydrolysis
(3) Ammonolysis (4) Amide formation

Lig. NEH
SRR NaH+NH3;q—§—>NaNH2+H2 Feardl ¥ o

(1) frEEgeEEme (2) W e
(3) emrEERE (4) u©AEs e
7 Phosphagene is the name given to which of the following polymers ?
(1) Boronhydrides (2) Phosphonitrilic
(3) Metal Siloxanes (4) Silicates
fr=r ¥ ¥ frm agae & wremew am fan w37
(1) a9 TEEESH ) wreRmEiiie
@) ug Frelesw 4 fefdem
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10

According to BIS (Beauro of International Standards) the maximum
permissible limit of dissolved solids in drinking water is :

(1) 1000 mg/l (2) 500 mg/l -
(3) 2000 mg/l @) 1500 mg/l

BIS (3RS WiHeh §RIM) & HOR W drg s  gereid ord qeni
& aiftrpan Wy @ ¥,

(1) 1000 mg/l (2) 500 mg/l
(3} 2000 mg/l (4) 1500 mg/l

Reagent used for the extraction of Aluminium is

(1)  Alizarin - S (2) o - Benzoin

(3) Rubeanic Acid (4) Nitron

wrgfafem % Freedu o wgew IW AW siftweris @ M ¥
(1) TE=AT - S () o - FEEA

(3) wTe o (4) HETH

Chromium shows resistance to corrosion of metals due to humidity.
This is done by one of the following

(1) It forms oxide and interfere with the effect of water
(2) Formation of thin and firm protective oxide film
(3) It increases the corrosion resistance of metals

(4) It forms alloy with the metal on surface

HIET RSl & ®ROT wgst F e & wfeay s ¥ e e A
¥ WE H B R ST R

(1) 9% I9EsS S § X o & UWE § 91 9 Bl §
(2)Q€5ﬂﬁﬁﬁqﬁwmavﬁamwwf

(3) T wIg W danr TRl W @ 9 g

(4) 9% wig & "y ag Mg wa® w T @ )
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In Schrodinger wave equation Y represents the

(1) Amplitude of the wave (2) Energy of the particle

(3) Electron density (4) Wavelength
AR aor Wi ¥ oy omEd wiar ©

(1) a7 = Em (2) ®U @ Hell
(3) IO T () i

In gas chromatography, the basis for separation of the components of the
volatile material 1s the difference in :

(1) Partition coefficients (2) Conductivity
(3) Molecular weight (4) Molarity

qref ggied % erEar &1 AW BRI g guemiw e ¥ @ Rew H
ufted= =@mar §°?

(1 f’c‘mwguﬁ‘cﬁ (2) drEmar
(3) &9 WR (4) T

The principle and azimuthal quantum numbers of electrons in 4f
orbitals are

(1) n=4, =2 (2) n=4, =4
() n=3, =4 (4) n=4, =3
4f wers F WA wgm wd foieh w@wen wem w1 Aw e ® @ g
(1) no=4, =2 (2) n=4, =4
(3) =3, =4 (4) n=4, =3

If the mean of the following distribution is 6

x=2 4 6 10 P+5

f=3 2 3 1 2, P is calculated to be

(1) 3 (2) 5

G3) 7 4y 10

afg T faums & ey am 6§

x=2 4 6 10 P+5

f=3 2 3 1 299 P & A9 & T HEH W AW &
(1) 2) 5

3y 7 4) 10

L)




15 The correct order of increase in bond angle is :

(1) NH, <PH, <AsH, (2) AsH,<NH, <PH,
() AsH, <PH, < NH, (4) PH, < AsH, < NH,
Y POl § goar wmH, N Y dEr @l § o

(1) NH,;<PH, <AsH, (2) AsH,<NH, <PH,

() AsH, <PH, < NH, (4) PH,<AsH, <NH,

16 In pharmacentical and pesticide industry which chromatographic technique
1s more useful

() G L. C 2) T L C

3) HPL C 4y G C

aitve wd el Prigw ST o, few wdchnhee Rty @ efter som
Bar ¥

() G L. C. 2 T L. C

G) H.P L C 4 G C

17  Which of the following bicaccumulates in food chain as pollutants

(1) Chlorinated pesticides (2) Calcium nitrate

(3) Magnessium carbonate  (4) Cadmium nitrate

e o @ @ wgus A W WeW HEW A S d9hw 3 8
(1) wArdga disssh (2) FuldEa e

(3) IefEm A (4) ehem e
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18 FORTRAN is which type of programming language

(1) Low level (2) High level

(3) Very high level (4) None of the above
B fRE W) @ g wm § 7

(1) Fre= 2) =

() efy s= (4) e ¥ A wE A&

19 Which of the following is false in case of Swarton Rederoft TG - 75 balance ?
(1) This requires only small sample weights
(2) One can maintain fast heating rates
(3) Buoyancy effect are reduced to minimum

(4) It is not useful for isothermal studies

e wAE TG - 75 gl & fow Fe & o @9 @ 37
(1) 38% WU dad w9 S99 B AET AT

(2 W 8 W vy AT @ I wHEA T

(3) SeAEEd F WWE ®H P T WES B

(4) wwadtw wmes ¥ fou 9 swarh 9 R

20 In reverse phase chromatography, the stationary phase is
(1) Non - polar (2) Polar
(3) Either non - polar or polar(4) None of these

e wieken mEEETS ¥ Ret UwERem 'Wr S
(1) ey @) yd=
() eyd T g @) T ¥ BF T
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23

Radioactive disintegration follows :

(1) First order rate (2) Zero order rate

(3) Second order rate (4) Pseudo first order
Temrad foges ues w%ar 31

(1) wum @ife 9 @I (2) I BT TT &

3) fm wife g7 @ @) Tyem wam @i = @

The median of the data such as 25, 34, 31, 23, 22, 26, 35, 28, 20 and

32 is, which of the following ?

(1) 26 (2) 27
(3) 28 @) 29

Ales N 25, 34, 31, 23, 22, 26, 35, 28, 20 W 32 @1 Hied wE A
T § w=E 87

(1y 26 2y 27

(3) 28 _ (4) 29

The TLC technique which is employed for fractionation of mixture of
alkaloids is

(1) Partition TLC

(2) Adsorption TLC
(3) Ton-exchange TLC
(4) Preparative TLC

Yepars figer & uwee & e yged sM T . uw. @, i
Bl %7

(1) ueiyE & . 4l

(2) ussinEa (sifustmer) J Tw. 4.
(3) omET - I TH. Hl.

@) Prodem & ww. 4.
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Metallic oxides are basic and non-metallic oxides are acidic which can
be explained on the basis of

(1) Lewis acid base theory (2) HSAB principle

-

(3) Brousted lowry concept (4) Usanovich theory

g oTEETES STOY TS seThas onedss omid B & Hel GmEl
gad &1

(1) wEu o axX fags ¥ (2) HSAB R @
(G) wree Wl efvumon & (4) SEmikE R R

Borosil is the manufacturers name given to

(1) Borosilicate glass (2) Boron Polymer
(3) Boron hydrides (4) Borax

e A S TR S A G e

(1) IRRREe @™ (2) IXM <wgED
(3) S TESEE 4) =

In the marine atmosphere the presence of which substance is mainly
responsible for increase in corrosion of metals in ships

(1) NaOH (2) Na,CO;

(3) NaCli (4) Na,S0,

T arareer ¥ 9 e g ¥ S R ger w0 @ wgd s ¥ g
ol Wikl @ 91 T ¥

(1) NaOH (2) Na,CO,

(3) NaCl (4) Na,50,

97 A] 9 [Contd...
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What are the values of principal and azimuthal quantum numbers for 47t
added electron in Ag

(1) n=5, 1=0 (2) n=3, =1

() n=4, |=2 (4) =5, 1=2

Ag ¥ B 9™ 47 ¥ ToeH & MY JET U9 QN aaved gl
B AE B

(1) n=5, [=0 ) n=5, I=1

() n=4, =2 (4) =5, =2

The example of liquid 1on exchanger is

(1) Carbon Tetrachloride (2) Trioctylamine (TOA)
(3) Ethyl Alcohol (4) Diethyl Ether

wa omEe fafrEs @1 saw ¥

(1) wdT igeerEs (2) gEeTEREA TN (TOA)
(3) 3URA Yrpied (4) SERUEE 3

In solvent extraction analysis common masking agent used is

(1) CHCL, (2) EDTA

(3) DMG @ (cH, )2 Co

fremes Fremy, faswwer faf § wm ARBIT @e 6 ®Y W UG
B ¥

(1) CHCI, (2) EDTA

(3) DMG @ (cny) co

Atomic adsorption spectroscopy can be used in the determination of :

(1) Zinc (Zn) (2) 1Iron (Fe)

(3) Cadmium (Cd) ) All

T SEgie Wity § fraifa et e ¥ o
(1) 5= (Zn) (2) T (Fe)
(3) wsfEm (Cd) 4 @l

97 A] 10 [Contd...



31  Which of the following compounds is known as Zeise's salt ?
(1) Pt(N-H3)2 Br, (2) K[Pt CI3(C2H4)]
() | PN, C1y @) [Pt(en)Br, ]
frer o @ s dife o @@ wsam §)
(y |pe{nm;) Br, @ K[Ptci(c,H,)]
(3) Pt(NH3)2C12 (4) [Pt(en)Brz]
32  The relation between average life (1) and half life {t %} of radioactive
element is
1=1.44/t T=1.44-1
M Yty @ Y,
. 0.693
n T=1.44x0.693/t =
®) /'y e Ty
ﬁﬁéﬁ”{%ﬁaﬁaﬁraﬂaﬂﬂﬁaﬂg(r)@aﬁm{t/]ﬁm
B
T=1.44/t t=1.44-t
M Ity @ Y
. 0.693
2 1=1.44%x0.693/t =
G) I @ Ty
33 TIon exchange chromatography is based on the
(1) Electrostatic Attraction
(2) Electrical mobility of ionic species
(3) Adsorption chromatography
(4) Partition chromotography
MET R R Seid §
(1) dga @fwe suedu
(2) omte WHE @ g s
(3) siftgivoor AR
(@ Frase sEEm
97 Al 11 [Contd...
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35

36

37

Ferrocene is the name given to which of the following compound ?

(M (C5Hs ), Ni @ (CsHy), Fe
3) (CsHs),Mn @ (CsH;), Ru
= 8§ wim A SOEE AW g S SR g 7
) (CsHS)E Ni ) (C5H5)2 Fe
G) (C5Hy), Mn (1) (C5H5), Ru

Which of the following reagent is not a chelating reagent used for solvent
extraction ?7

(1) Dimethyl Glyoxime (2) Oxine

(3) Cupferron (4) Rhodamine - B

e Frepdor # & & o T stfteds! ¥ A = § § sl sifiene
T T TP

(1) wefure omgefeess (2) iR

() wIHUA (4) TsWE - B

If 4431 is regarded as the true value between two numerical values such
as 4.431 and 4.410, the relative error in these values per thousand is,

(1) 4.431 (2) 4.410

(3) 4.610 4y 4772

g aAifehs AHE S8 4.431 Ud 4.410 ¥ weg OiE 4.431 @€ 9 9ET W™
a9 3 e "1 ¥ omufdE FR E,

(1) 4.431 (2) 4.410

(3) 4.610 (4) 4.772

In the reaction

HCIO, +H,80, = H,8O; +ClO,, H,SO, is behaving as :

(1) Conugate Base (2) Base

(3) Acid {(4) Conjugate Acid
frm arffear o

HCIO, +H,S0, — H,8OF +ClO;, H,S0, @1 =@er ¥,
(1) H=FrE &R & (2) @R @&

(3) o W (4) H=TIE | @B
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38 m/e value for the metastable ion formed by the fregmentation
. C=0"

_— C6I-[5+ +CO appears at

(1) 775 (2) 565
(3) 46.5 (4) 1055
.C=0"
GieER| —>CGHS++COﬁaﬁﬁmwwﬁam=r%ﬁmfem
O o F
1y 775 (2) 56.5
(3) 465 (4) 105.5

39 The level of humidity at which corrosion is maximum is known as

(1) Normal humidity (2) Non - permissive humidity
(3) Critical humidity (4) Abnormal humidity

ke @ aE d | X deRer IS g ¢, weenl e
(1) = EEd @) = whthe il

(3) fonfeamr s (4) uaTHe wRfEd

40 For computer data analysis OMR stands for
(1) Optical Mark Reader {2) Optical Memory Reader
(3) Optical Memory Recorder (4) Optical Mark Recorder
G & oiws fuwfa w0 3g OMR & o1 ¥ -
(1) on<tes @ T () o AN R
(3) Emw E T (4) STHH qd BT
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42

43

Which one of the following is the weakest Lewis base ?

(1) CH; 2) NH;

Gy F (4) OH~
rer & ¥ @9 W gHOEE qEE AW B

() CHy (2) NH;

G) F (4) OH~

The value of magnetic moment in the complex Kz[Ni Cl4:| in B. M.

will be
(1) 173 (2) 3.87
(3) 2.83 4) 490

Tgd AR Kz[NiCIJ A g omgel w " B, M. H g
() 1.73 (2) 3.87

(G) 2.83 (4) 4.90

The mean of 40 observations was 160. On checking the value 165 was
wrongly copied to 125 for computation of mean, the correct mean is,

(1) 161 (2) 165
(3) 167 4y 169

40 wdeen @1 wieg " 160 ) SiEw U 99 W0 6 " 165 @ e
¥ 125 fq@HT Aeg 99 @ TOFT ) | @E HIeg " %,

(1) 161 (2) 165

(3) 167 @) 169

97 Al 14 [Contd...



44  Which of the following will undergo Mc Lafferty rearrangement

1) AN @) /\/\(

O

w I
) /\/\< @) CcH.CH,CH,-COCH,

= § @ ww e e g g

(1) /\/\\/ (2) M
O
I

W
® 7 @) CH,CH,CH, -COCH,

45 For oxygen corrosion in acid solution for metals, it is observed that
the :
(1) Corrosion current for zinc is larger than that of iron
(2) Corrosion current for zinc is smaller than that of iron
(3) Corrosion currnet for zinc is same as that of iron
(4) Corrosion current for zinc is smaller than that of copper

aell & orclia fafwas  emeelsm damer # J@m mn ¥ i@
(1) fie o dare g/ emRa @ ggre g ¥ ot ®
(2) T o deamw g AR Wl gERer g% q wH ¥
() Biw o danrv 4 R @ SRV 9 % §HE
(4) Bi® @ R 9 SER & WRW " d w9 ¥

46  Which of the following reactions is not an example of natural radio activity ?
(1) ggRa?0 5 Rn*22+ He'
@ (Mo N B
3) LCY+ He' - 0+ H
@) g, Po?® »  Pb?!l4 Het

fe & 4 sl afufear wepfie Weaiafiar & sewr @ 57

(1) ggRa?%— Rn*22 4 He'
@) 6C14 —>7N14+_1l3°

@) ,CM+ He* > 0+ H'
@) g Po?!® —  Pb?!l4 Het
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When two or more than two substances are extracted simultaneously, the
extraction process is which of the following :

(1) Batch extraction (2) Stripping extraction
(3) Continuous extraction (4) Counter - current extraction

w9 & A I H aftw el ww - iy Meeha e s %, aw Fremdw
Ty e A 3w ¥ 0

(1) d= Fremdu ) FrfT fremdo
(3) W fFremser (4) famdm s Frepdo

The correct order of increase in bond order for following is :

(1 0,<07<0; 2) 0,<0,<0]
() 05<0,<0; @4 0,<0;<0]
e o w79 @ @ @ S M wEl BFm?

(1) 0,<0] <0y (2) 0,<0,<0]
3) 07<0,<0; 4 0,<0,<0;

Which of the following methods ts not used to minimize errors ?
(1) Correct calibration (2) Blank determination

(3) Continious determination (4) Parallel determination

F B EEw wW F R e ¥ el bty wm o T8 W@
T B 7

(1) w& sl (2) @ (=w) Fefo
(3) wmart Frefo @) TR Frafo

The structure of (C5H5)2 Sn is

(1) Linear {2) Angular
{3) Linear Sandwich (4) Angular Sandwich

(C5Hs), Sn & wweem #

(1) YdE (2) W
(3) @ d=hm 4 wuE d=ike

97 A] 16 [Contd...



51 The correct equation for half life [t y] period of radioactive element is
2.

) t%=0‘693k ©) t%=0.693/?\.
G) t%:2.303/?\, @) t%:2.303k

s el g @& ardang (t%J T BT &g Wl GHRBT §
M t%:0‘693}k ) t%=0.693/x

2 t, ,=2.303/A t,,=2.303A
@) Ty =230 @ 'y

52 The choice of solvent for extraction from water does not depend upon which
of the following ?

(1) High distribution ratio for the solute
(2) Low solubility in aqueous phase

(3) High viscosity and oxidisability

(4) Selectively and chemically inactive

oW ¥ Frepdu ¥ fRemmw @ e B ¥ @ few e Pk T

T B 7

(1) T % g s= faor emum
(2) S WP H FH gaeiw

(3) Tu EEE TEH eTEiE

(4) Tuff@m v ot w9 & sfeg

33  Part of computer which controls all functions is
(1) Keyboard (Z) Monitor
(3) Central Processing Unit (4) Hard Disc
LY B q€ AT S g9 Tparel w1 Prafem war
() @ - 9 (2) HFRX
®) =z« WRRm ghre @ =
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55

56

Which solvent is more convenient for organic synthesis ?

(1) Liq. NH, : 2) Liq.SO,
¢y H,0 (4) LiqHF
R faeEs wRte gewn & g stue gl 37
(1) & NH, 2) 7@ SO,
3 H,O (4 =@ HF

The COD measures the
(1) Amount of Oxygen required for growth of microorganisms in water

(2) Amount of Oxygen that would be removed from water in order to
oxidize pollutants

(3) Amount of Oxygen required to oxidize the substances other than
pollutants present in water.

(4) None of the above
COD &Rl "l 9l @,

m ST A TE W W s ¥ oged sltagel @ gl & R
AR T

) SRS W qE RIS UCNE & AEdhd GO § OWgE el ¥

(3) SRS @ TE WIS S UGWR! % STl o7 Ware Bl W § SMRdIpa
HE W B o &)

(4) SWaEd ¥ ¥ @y Tl

The difference in energy (DErib) between the energy states V=1 and V=2

(V is the vibrational quantum number) is which of the following

1) hv @) (%) hv

ONVALY AL
e ¥ & B S T V=1 T V=2 (SR WV @ e )
% T FHel (DEﬁb) st ¥

Jhv
)hv

(1} hv (2)

OIALY *)

f-;\-.,--—--..
NN
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57  Total number of electrons in orbit is given by

(1) 2p2 2) g2

3y (21+1) (4)' Total s values
B W G IOEEl B wen e @ TR B -

(1) on? @1 (2) 4?2 @I

G) (21+1) TW (4) PO sE A9 ¥

58  Alkali metals in liquid ammonia are blue in colour because
(1) An amide ion is formed
(2) They contain atkali metal cations
(3) The solvation of free electrons
(4) An ion pair is formed

i g g NH; § Frar o welfa feg anor @ s 32
(1) UARsS &™T % a9 9

(2) alg g % wwEd @ suRgly

(3) Tw gl @ famIgd  (solvation) EHT

(4) 3WET g A

59 Which type of chromatograpy was first introduced by the name as capillary
Analaysis ?
(I) Paper chromatography
(2) High Performance liquid chromatography
(3) Gas chromatography
(4) Ion - exchange chromatorgraphy

60 TR A NI yem R @i frwewer ¥ oam @ & )

(1) Y9 R 2) T wWwEY falmmrEEm
(3) = eI (4) A WSS HEEITH!
60 Firebricks are the example of
(1) Ceramics (2) Refractory
(3) Glass 4) Caly
722 H HmH AN 9l ¥ 3amw ¥
(1) et (2) Foredr
(3) @ (4 P

by
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63

64

Metals which induce their harmful effects in organisms by mimicking
essential elements are

(1) Al and Ni (2) Pb and Cd

(3) Cr and Zn (4) Na and Ca

Y uig A AUY THEN <EEH FHWE w S+, AATH T B BH
B9 U B TEOA BW K

(1) Al wd Ni () PbTd Cd

(3) Cr U4 Zn (4) Na Td Ca

The best method for disinfection of swimming pool water is
(1) UV rays treatment (2) Filteration

(3) Heating (4) None

TR % W @ A ed w b e waww fofy v o
() wa &N el @ owm (2) B

() T HE 4) wswEm ¥ ¥ Wig

Acetyl Acetonate is used for the extraction of

(1) Beryllium (2) Boron
(3) Molybdenum 4y Silver
i e R P ¥ W g
(1) < (2) A
(3) ieiresTH 4y et

Which of the following is an outer orbital complex ?

(1) K, [Fe(CN)s] K, [FeE |

@) K,[Fe(CN)| 4) K,[Fe(CN); NO |
e ¥ Q B W TR HEE GHA e 7

(1) K, [Fe(CN)4] K[ FeF, |

() K;[Fe(CN) ] @) K, [Fe(CN);NO]
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68

The partition ratio in gas chromatography does not depend upon which
of the following :

(1) Nature of the solute

(2) Nature of the solvent

(3) Concentration of the liquid phase

(4) Pressure -

g mrRRETl ¥ Rt srgme B F ¥ BRe we Pl w@ e § o
(1) faora @ wgly @) fooms @ wghy

(3) T U] B GrEdl @) ==

Which of the following is incorrect in case of the ammoniacal solution
of alkali metals ?

(1)  Good conductors of electricity

(2) . Stable at room temperature

(3) Diamagnetic in nature

(4) Good reducing agents

aiia agel B o R % wed 4 P § @ B wd T E 2
() Taga & gaws §) (2) TmME 9w T EEr ¥

() vl ¥ wiagmmn ¥ @) IB AgUEE B

The resins under the name ‘Zipax' are employed in HPLC for the separation
of which of the following

(1) Anions (2) Cations

(3) LSD (4) Heroin

W B e & W A we @ ww @A wgee fear W &, B
A ¥ feawr o wEr & ¢

(1) T (2) HyEA

G) uw T & @ B

Heavy metals are toxic and get deposited in which of the following

- (1) Kidneys (2) Liver
(3) Bones 4) All
Al Y P Ot ¥ ud Be ¥ @ Rt w o AR 37
1 T @ =g
@) =il @ = A
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The diseases such as skin cancer deformity in bones, loss of hair and
congestion in throat are caused by which types of pollution,

(1) Radio active (bomb explosion)

(2) Biological

(3) Pesticide

(4) Mining and processing of ores

Sttt S @A @ ey, s ¥ weed, W H weT ud ™A
FHET A B HROT R6E GRR W UGUT § ?

() e ufifar (s= A W)

() i

(3) Wrewel

(4) WEH ud e B TR

The pH of waste water from synthetic drug industry producing sulfa drugs,
antitubercular drugs and vitamins is,

(1) 05 (2) o8

(3) 5.5 (4) 85

T, Zgage W qengal ud Rrefer e e sa ¥ feve
o g s B pH F B,

(1) 05 (2) 08

() 55 (4) 85

The institution which first time reported ozone hole s,
(1) Meteorological Research Institute, Japan

(2) Meteorological Research Institute, UK

(3) National Aeronautic and Space Administration, USA
(4) Meteorological Research Institute, Canada

a5 g PEY gee AR aeim R o Smer & o,
(1) +ew R g e, SO

@) drew faee oy geE, g9

G) U Yebm ud eEiw wEed, sEi

@) wew fasm oy WM, HE
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72 Ozone hole mainly occure during in which of the following period ?

(1) September - October (2) November - December
(3) March - April (4) June - July
gt o Fog & @ few www yeg @ ¥
(1) T - omEy 2) TR - ey
(3) #d - W (4 T - A5
73 Which of the following is known as inorganic benzene ?
(1) ByH, (2) BN H,
() B,Hy 4  ByH,
T & & TR0 oraedPes ¥ m R w20
(1) B6H6 (2) B3N3H6
(G) BHy 4  ByHj

74 Amphiprotonic substances are those which can
(1) Neither accept nor give protons
(2) Accept and give protons
(3) Give protons only
(4) Accept protons only

TR weef @ g ¥ S fE
() T TREE aa T T8 3 T
(2) URN Wa 1 T & o ¥
(3) AW WeN F ¥

@) waw WRE wa ¥

75 International standards for drinking water as preseribed by World Health
Organization (WHO) for toxic metals such as arsenic, lead, mercury and
cadmium per litre are,

() 10ug 10Ug lug 0.0Img

(2) 1.0ug Sug 0.01ug 0.1lmg

(3) Sug 10pg lpg 0.1mg

(490 05ug 0.05ug lig 0.1mg

Rl agell Sy omRifn, s, e e Hehem wfy fer O 9 g W@
& TTT fasa @ dwew 3 simvodm e R ¥, fre A @@ &
(1) 10pg 10[Lg Tug 0.01lmg

(2) 1.0pg Sug 00lpg O.lmg

(3) Spg 10ug lug 0.1mg

4) 05ug 0.05nug  lug 0.1mg

97 _A] 23 [Contd...




76  The major contribution to acid rains is made by which of the following:

1y (co,+co} (2) (30,+NO)

(3) Ouly (SO,+CO,] (4) Only (NO_ +CO,]

P & ¥ Pramr ot ax % Rg gee dEE <@ ¥
(1) @ETeE e ¢ BT A

(2) TEHL S OGRS + RGN & SEEESH

() Haw (AR S GRS + BET S SRREE)
(4) Faw FEIST % FEEES + HET TG SAEHES)

77 The number of translational, rotational and vibrational degree's of freedom
for acetylene 1s :

(0 3,2, 7 (2) 3,3, 6
() 2,37 4 3,35
whifedm ¥ fire s, o @ erhe @ @il § o
) 3,2, 7 (2) 3,3,6
@) 2,37 @ 3,35

78 By solvent extraction method Uranium is separated from Cerium and
Thorium by using the reagent

(1) Dithizone
(2) Cupferron
(3) Thionoyltrifluoroacetone (TTA)
(4) Amberlite

s Prwsn Ry ¥ fem e Gt o dfem ¥ gow @
A BE atyeds &w ¥ Wd § 7

(1) SEUESE

(2) HIHAA

() UEEEW FEWR UM (TTA)
(4) TEREEZ
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Which of the following types of pesticides are least bio degradable :
(1) Organo chlorine compounds

(2} Organo phosphorus compounds

(3) Organo carbonates

(4) All above

e & ¥ 3 @ dlemm g ww A axe B 32

(1) O ke il (2) AT wiEprRE AtRrs

() RN BHRAWE (4) SREa T

Which type of extraction is employed in extraction of iron (iii) from HCI
with diethylether ?

(1) Chelato (2) Solvation
(3) Ion-pair formation (4) Synergistic

ﬁﬁawaﬁﬁw%ﬂ:m(iii)zﬁrmﬁﬁ%ﬁwmﬁaﬁ—sm
3V FU WY @ Wi ¥ 7

(1) w@ee ) R
(3) SMEE-YT ®w I (4) e

Which of the following is known as Wilkinson's catalyst ?

) RhH(CO)(PPh3)3 @) RhCL{CO),

() (PPhy). RhcCI (4) RhCi(H,)(PPh,)

.
J

M= P fafvee 99w % W 9 ST o &2

(1) RhH(CO)(PPh;) (2) RhCL,(CO),

() (PPh;) RhCI 4) RhCI(H,)(PPh,)

-
ul

Constitutional provisions to prevent water pollution were made in which
of the following year ?

(1) 1972 (2) 1974

(3) 1981 4) 1986
ﬁwﬁaﬁﬁaa&ﬁwwfmﬁ%mmﬁwﬁﬁnﬁ&?
(1) 1972 2) 1974

(3) 1981 4) 1986
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Who discovered artificial radio activity from the following ?

(1) Seaberg (2) Rutherford
(3) Einstein (4)

P QP T offer @ @S Wie

(1) @ (2) ETHS
(3) mEHIRT Q)

Relative deviation indicates

(1) Accuracy (2) Precision
(3) Absolute error (4) Prejudice
qiy frawT @ A e WA @

(1) e (2) ulegEa
() Frow e @) g
Which of the following does not

temperature?

(1)  NOx 2)
G) O 4

Rrer & ¥ o9 men yvse o ¥ gerdl @ s &7
THY T HEEES

(1) <Eee & SIerEs ()

Irene curie and Juliot

S AU N G LRT

cause rising in the mean global

SO

CH

2

4

(3) o= (4) A

H,O is a liquid where as H,S is a gas because of

(1) Presence of H - bonding in H,O

(2) Formation of H30+ ions in H,O

(3) Low boiling point of H,S

(4) Different geometry of H,S

H,0 ws 79 3 @ie H,S u& g wbifs

(1) @ F EESeE T W S ¥

(2) w@ H Hp*wanﬁm?wé‘m%l

3) H,S &1 wuww fr ¥

4) H,S & =i =t ¥l
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Bio - degradability of pesticides in soil is strongly affected by which of
the following ?

(1)  Soil temperature (2) Soil moisture

(3) Soil texture 4) All

BT WA o e ¥ ¥ Rewd g oralis g o 27
(1) a1 am @) T e

() & e (4) SuiE ad

In case of acetone low resolution and high resolution NMR show

(1) Singlet (2) Doublet

(3) Tripplet {(4)  Quartet

T U AR, & fre R w9 ww Reem wdiem & fag sadar
() @ fa

G) P (4) =gds

Which of the following is NMR active and gives NMR spectra ?

(]) C12 (2) 016
(3) 9 4 g2
Fet 4 ¥ 3 NMR afpg ¥ @ NMR g ¥ ¥ 7
(1 ¢t 2 o6
Gy g “) 532

Which one of following is not Hardware ?
(1) Keyboard

(2) Monitor

(3} MS Word (Microsoft Word)

(4) Printer

e F & 3 W A W %0

(1) @ S

(2) wRY

(3) T W o€ AEEEe «)

@ Bz
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Organic compounds of mercury that pollute the sol are

(1) Insecticides {2) Herbicides

(3) Fungicides (4) Parathion

Th ¥ aEte df oSt Ped B wehe B ¥ o
(1) WETEE (2) W

(3) HamATN () W™=

Fullerenes are,

(1) Polymers of fluorine

(2) Macrocyclic compounds

(3) Family of polyhedral carbon allotropes

(4) Supramolecules

i ¥ -

(1) w€RA & Fges

(2) &g T Al

(3) TEWEHT HET ATEAT Bl TGRS
4) gy

WW.W. (World Wide Web) was discovered by which institute

(1) CERN (2) BARC

(3) NASA (4) None of the above

Sa, BN SN (World Wide Web) &1 @il fpw weem g1 @ & A,
(1) CERN (2) BARC |
(3) NASA (4) v ¥ ¥ B A T

Deforestation can check increasing of CO, in the atmosphere to the
approximate excent of which of the following :

(1) 20 percent (2) 30 percent

(3) 40 percent (4) 50 percent
Wﬁmﬁ@i—wﬁaﬁwﬁaﬁ?ﬁ?mﬁﬂﬁ%
Wt B € 9@ A S FhRA §

(1) 20 W (2) 30 wiasd

(3) 40 yfasw (4) 50 gl
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Which of the following mixed nitrocyl and carboxyl compound is
structurally incorrect ?

(1) Fe(co)2 (No)2 2) 1\/[n(co)(1\r0)3

(3) Mn(CO), (NO) (4) Fe(CO}(NO),

e H B i Teditee od eeite e dw ¥ oenae W
T F?
(1) Fe(CO)z(NO)Z (2) Mn{CO)(NO)

-
ol

(3) Mn{CO),(NO) @) Fe(co)(NO)2

Which of the following shows intramolecular H - bonding ?
(1) o-CH,(OH)CHO (2) wr

(3) p—C6H4(OH)CHO (4) H;BO;,

fra & @ s aoemiie ergem 9= gofar &2

(1) o-C.H,(OH)CHO 2) ur

(3) p-CcH, (OH)CHO 4) HBO,

(CH3Li) . has the structure

(1) Square Planner (2) Linear

(3) Trigonal Pyramidal (4)  Tetrahedral
(CH;LI), = werm a0k %

(1) = a9 2) &

() Pl Rrafe (4)  =ghEEE
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Which complex of chromium from the following will show optical activity?

(1) trans—[Cr(en]zBrz]Br
(2) Cis—[Cr(en)zBrz]Br

(3) trans— [Cr(NH3 )4 Br, ] Br

(4) [Cr(NH3)6]613 |
Wﬂ%ﬁwﬁwﬁﬁnﬁﬁ@r@wwﬁuma&ﬁn?

) trans-[Cr(en)zBrZ]Br
(2) Cis—[Cr(en)zBrz]Br

(3) trans—[Cr(NHﬂ4 Brz]Br
() [Cr(NH3)6]Cl3

Working range of which solvent is more convenient

(1) Liq. NH; @) Liq.S0,
(3) Liq HF (4) Liq.BrE,
fre foome o srwd @ sma gRueae € O°
(1) =@ NH, @ @ S0,
(3) ®a HF (@ ¥a BIF

Which of the following, organo mercury compounds is not "fluxional’

(1) RHgX @ [CsHs), He
3) C.HHgX @ (Co;), Hs
Prer % 4 A o wd A T S w7
(1) RHgX @ (CsHs), He
() CsH;HeX @ (CoH,), He
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